Q_HVNAQJV \“E_r@%)% M@%E

v O FHE 95

dpsph st




Machine #

Rollers, Sprockets, & Bolts

Lenco Number |Vendor Number Vendor Description Quantity| Cost
Per Unit
20033-019 R11AY1 Terog Mfg 4" Steel Carrier 24 11.88
20041-019 R352500 Kryptane 3 1/2" Roller w/o Flange (Kryptane) 62 13.04
20042-019 R352550 Kryptane 3 1/2" Roller w/8" Flange (Kryptane) 122 14.68
20045-019 R37AUAB1 Terog Mfg 4" Vibrator Roller 32 19.57
20046-019 R401000 Kryptane Roller 44 3.82
20049-019 R501000 Kryptane Roller 16 4.85
20053-019 R51SLLB2 Terog Mfg 4 1/2" Roller w/5" Flange 8 30.66
20056-019 R5FBRSMLHUBL2 |Terog Mfg Nose Cone Roller - Tapered 8 28
20061-019 R8FBRRCUZ2 Terog Mfg 3 1/2" Rubber Roller s/8" Flange 1 27.18
20063-019 S0141562 Kryptane Standoff (Kryptane) 60 1.14
20068-019 SS18 Terog Mfg Spacer for Roller (20053-019) 8 1.48
24500-019 H45M10B5 Terog Mfg Sprocket 45mm 10 Tooth 1 1/4" Bore 2 83213
24502-019 H45M10RB5X Terog Mfg Sprocket 45mm 10 Tooth 1 1/4" Bore 6 25.56
24541-019 H45M14R1E4X Terog Mfg Sprocket 45mm 14 Tooth 2" Bore 8 41.06
24542-019 H45M14RE4 X Terog Mfg Sprocket 45mm 14 Tooth 2" Bore 6 41.06
H45M12E4 Terog Mfg Sprocket 45mm 12 Tooth 2" Bore 8 45.26
BTHH 1/2x4 1/2 Alma Bolt Company [1/2" X 4 1/2" Hex Head Cap Screw 80 0.45
BTHH 1/2x7 1/2 Alma Bolt Company [1/2" x 7 1/2" Hex Head Cap Screw 18 0.76
BTHH 5/8x3 1/2 Alma Bolt Company |5/8" x 3 1/2" Hex Head Cap Screw 66 0.45
BTHH 5/8x5 1/2 Alma Bolt Company |5/8" x 5 1/2" Hex Head Cap Screw 26 0.88
BTHH 5/8x12 5/8" x 12" Hex Head Cap Screw 12 2
BTHH 5/8x6 Alma Bolt Company [5/8" x 6" Hex Head Cap Screw 8 0.99
BTSN 5/8 Alma Bolt Company [5/8" Spin Lock Nut 112 0.2
BTSN 1/2 Alma Bolt Company |1/2" Spin Lock Nut 98 0.08
BTLW 1/2 Alma Bolt Company [1/2" Lock Washer 44 0.04
BTLW 3/8 Alma Bolt Company [3/8" Lock Washer 16 0.03




Wtﬂh et

ok 14 Q

Z o 91 X9l 0NE9Z

¢
7“"’9‘lf

LSl

L 20 =z 1
! '!_‘

e
M){;\C‘ . e

91 YNESZ
¢l vNe9Zz
ANN 9L/L - 0¢NOL
S6ve S1d

6¥¢¢ S1d

80 X 0} S4 €88

80 0S4 S8

e xcloovs

2l OM'N €0%9

0¢ X 0¢ ¢0¥9

AR AR A2

91 X9} 39N €9

2l Xgloneo

L 9LXx9lvNneE9
ZLxzLvne9
80 X 80 VN €9
90 X 90 VN €9
9ix9l 41 €9
0C X9l 4S €9
CL Xl 48 €9
91 X9l IS €9
¥0 rsve
Hd0¢

Hd ¢l

oren

ceen

reen

0zen

glen

¥120ve 0E
€120vE 62
cleove 82
LLeove Le
0lecove 9¢
6020vE G2
90c0ve ve
€LL0¥E €2
c¢LI0vE 22
9910¥¢€ LC
goaLove 0C
¥910vE 61
£910ve 8l
2olove Ll
Lolove 9l
09L0vE GL
6SL0VE V1
8s1ove €1
1G10vE 21
9GLoveE LI
ssLove Ol
¥SLOVE 6

€510v¢e 8

0S10vE L

6¥1L0vE 9

lvlobe G

ovLOvE v

SPLOvE €

prLOvE €

eviLove |

L599 ]

00€662 1S ® NOILYINOLNY JI1LOX3
00€66¢ 1S ? NOILVINOLNY JILOX3
00€£66¢ 1S ? NOILYINOLNY J1LOX3
00€66¢ 1S ® NOILYINOLNY J1LOX3
00€662 1S ® NOILVINOLNY J1LOX3
00€662 1S ® NOILVINOLNY J1LOX3
00€662Z 1S ® NOILYINOLNY J1LOX3
00€662 1S ® NOILVYINOLNY J1LOX3
00€662 1S ® NOILYINOLNY J1LOX3
00€66¢ 1S ® NOILVYINOLNY J1LOX3
00€662 1S ® NOILYWOLNY JILOX3
00€662 1S ? NOILYINOLNY J1LOX3

00£662 1S 2 NOILYINOLNY DILOX3
00€662 1S ® NOILVINOLNY D1LOX3

00€662 1S ® NOILYINOLNY O1LOX3
00€662 1S ® NOILVINOLNY JILOX3
00€66¢ 1S ® NOILYWOLNY J1LOX3
00€66¢ 1S ® NOILVINOLNY O11LOX3
00€662 1S ® NOILYIWOLNY J1LOX3
00£662 1S ¥ NOILYINOLNY J1LOX3
00€662 1S ® NOILYWOLNY O1LOX3
00€662 1S ® NOILVIWOLNY JI1LOX3
00€£66¢ 1S ® NOILYINOLNY D1LOX3
00€662 1S ® NOILYIWOLNY JILOX3
00€66¢ 1S ? NOILYINOLNY JI1LOX3
00€66¢ 1S ? NOILYINOLNY J1LOX3
00€66¢ 1S ® NOILYINOLNY J1LOX3
00€662 1S ® NOILVYINOLNY J1LOX3
00€£66¢ 1S ® NOILYINOLNY J1LOX3
00€662 1S ? NOILYINOLNY D1LOX3




Sdsy 2794

S

Y gl oo
b~ t e| o SS-p-’d 7 /(arq_iwt_-'?nd T~ wazd
) — et

2008y ASUQTg  3ANIJ ¥IQT A Q=2SH

S22l 90 LSty oS/ 222

IS I L 2 Lt~/ = wedS

cner © Tt < Lly



¥rx¥r Sd4 RBh& -
720490 084 Skg - ¢
90x90 e84 Lty =~
90 SJd TLL - ¥

S© SJ TLB -~ ¥

Tl oA T2£2 = &

720 Sd L8 -+

Ko So LA - 7P

R0X80  Asd RS - |y
C/x€/ 054 1H<s8 - S

71 s34 (kg -9

CIx91 s4 £38 -9
e ©S kKpr 3 i

Fo IA ¢ -

FO 9M S ~ ¢

Fax9° vl g9 - O
80%x30 YL E¢9 - O/
Sex80 wmgg - O
90X720 _So0s9 - |
JorLo SaS9 - ¥
SoXx90 TOKY) - T€
JIX9l d1L€9 -}
WTEgF 9m &L 2e - |
CYRAE] ¥aL9z =~ 1
L% dR2vS 582y IH TR} YNEIZ . ¢
ant Iw0SP|  foeX/ ST 1L - 8




2IdA3T7 o . )

gna a3t 2-09/- sh-?m-{o
Tio 0!3”‘0/3 9_1_@’7
s, - LG JH = [

dmw+> 2sep

2594 _ dwwvo L ~)
1501 - Lvamo e =

sp - Sdwdio 9 o

PAVIAN T - Ol AITINN | § X 9 =

AAUAT - AOIAY) gy [ X9 = ]

Hhi9lthn - e¢

Juqory - QAF 290, 2/ xR/ -000] X¥EY - O
7.‘?("“”(:, ..’7.".71#""9 é - ]
Juw~> warIATw by P 3 -€g¢ - €

MY s mmaas Jov) ¢-QRL ST J 1L - |
2p014470  QIvEl Qo L4 -
CIXCT @ mw ok -~ T

CIRel Toh <o

—5

Crxes vig€g9 -8

7/%X21 Osd REg -~ |
t/xer >n g9 - ¢l
dwerrs> B LEODOI -~ ¥
Jivt 9> 1? 05000/ -
I 8, Laoopl - &

EOX8o SA8HL -7




Bl d AT w P -
ad'd 2274w .,h/ff
Swwv> aluA22L ||,  hE€s - €€L - €
dNwy> 2374w/, CTSLS-€5c — |
@r 54 L& ~+1
dwwr> & Oor >H - 9
TTX07 Sd 88 -
A CSH hS$R -9
Q7 Rol UNET -5
2arlvzg  9Ex % - 8
B 22HLuIZg 2-48 -
(v 350y LAY TH - 9
FTERTT OSHBLE -1
TEXI o580~
2ga7) swdﬁg —moaclg 2 ~ ]
297/ ss¥dhg Ty fro-9/008 - €
azy0y 2ctHLdATy s ooo/og y -8
@@dxy)y ZIYTS Of 2F)°Y €S 005P SgY - €
FBIY A9 3son TLIPH TwSYII Y -
FT AAUSYd Q) gy - O

2T AT 07.# = }.,

WITHZ Saag OFg -~ S

Sipeds  proay of - w0y, Xs930lwol-Q -¢
gv7 750 L et Sdal xolhy -

AR T f3g0 20l Ap — ¢

B La0l %01 Ay -FK



C/X€l t¥n <9 -m b

13>ads aep> A2'q LEIOCA SERDS ‘If
SPHH ¢ an- %% ~he
IIASe Fq G - |y
L7V 3297 ~ds & - gpoly
Z

ANy xIP -~

2ApSEM P97 & - Q9
SEHSHM 1vdd B -k

SoHH ,Iix £1:-% -QF

2 PSSV LT~ ”fi -84

SOHH 45T *oz-r, - 8

b'al SOMH QEXSUIx0tw - S/

A2HSY P 2H/PD T f_g/z_ -2/
SOWH kB xg1-T - [78

XSV JRY 2% I o1 - 0f
G2 H ol /,-7- Shoot — Tt
R 5 -5~ Lol -



(/706 oy Lavq oy )
o H Sﬂg 2591 zr'é_w,"fq’va ) h;r_f X (f’{' ‘ - Lé
(szi o0y L6/ ' Udb'(\!) ?S‘OH X314 E = }_?

529 S?hﬂ ’xc)f"%’ ‘(_!
oM gux s1-€ - SC
1) vl =
<40V X2I2H I 8/_9 - 0_S
Sonti 9 X 1-24 -2
SOH CoX1i~3 -1

R LY =b

Sopr e XS - T
L-8-56¢481 - €1
3-9-5Sheo] -8

L-2 -Shoel - L7

day
o094
. P 7;




a5

- St

oV

i
W

€00 9l laysep %0017 ,8/¢| Auedwo) jjog ewly g/ M119
¥0'0 v Jaysep %007 ,z/1| Auedwo) jjog ewy ¢/l M119
80°0 86 INN 007 uids ,.z/L| Auedwo) jjog ewjy 2/l NS149
20 ZLl INN %207 uidg ,8/G| Auedwo) jjog ew)y 8/G NS1d
660 8 3 M310g de) pesH xaH ,9 X ,8/G| Auedwo) jjog ew|y 9%g/§ HH1d
Z Zl Ma10g de) pesH XeH ,Z| X ,.8/G Z1X8/G HH1g9
88°0 9z 9F Malog de) pesH xaH ,Z/1 § X ,8/G| Auedwo) jjog ewyy 2/l GX8/G HH1d
Gy'0 99 % mai0g de) pesH xeH .2/l € X ,8/G| Auedwo) jjog ewyy Z/L €X8/G HHL9
9.0 gl 8! mal1og de) pesH xaH 2/ L X ,2Z/1| Auedwo) jjog ewly Z/V 1X2/) HH1g
Ta0) 08 0% M310S de) pesH xaH .2/l ¥ X .2/1| Auedwo) jjog ewy Z/L ¥XZ/) HHLg
92'G¥ 8 8Jog ,2 Y00] Z| Wwgy 193001dg By Doss vy3ZLNSPH
90’ Ly 9 9109 ,Z Y100] ¥| WWGH 19300ids By Bossa) Xy3dy LINGYH 610-2vS¥2
90 L¥ 8 alog ,Z Y00 | WwG 193001dS By Bolay X319y LNGPH 610-L¥S¥C
95°6¢2 9 alod ,p/L | U001 0} WwgGy 18x001dS EIE XG940 LG YH 610-20S+2
eLze Z alog /L | YOO 0} WwGy 19%004dS BN Boss) GHOLGYH 610-005+2
8y’ 8 (610-£5002) J9]10¥ J0} J1o0edS By Bosa) 81SS 610-89002
A 09 (suejdAry) jjopuels aue)dAny Z95L¥1L0S 610-£9002
8l/2 L abue|4 ,g/s JoJ|0Y Jaqany ,Z/L € by bosal ZNoYyg48y 610-19002
8z 8 paJade] - 19||0y BUOD SSON By Bolal| zIgnHINSHE4sY 610-95002
99'0¢ 8 abueld ,G/Mm I3]0y ,.Z/1 ¥ By bosa | 2911S16Y 610-€5002
G8'Y 9l 19110 aue)dAy 0001054 610-6¥002
Z8'c s 19]|0y auejdAy| 00010%Y 610-9¥002
/G561 zg 1310y J0)eIgIA by bolss Llavnv.ey 610-G¥002
89'¥1 zel (sueydAry) ebuel4 ,G/m 1910y 2/} € aue)dAly 06525eY 610-2¥002
YO €l 29 (eueydAy) sbuel4 o/m 190y ,2/1 € sue)dAsy 00625€Y 61017002
88} 1 e Jslle) [@a1s v BiN Bois LAVLLY 610-€£002
yun Jad
1s00  |Ajjuenp uonduosaq JOpuUap JaquinN Jopuap JaquinN 02uaT

sjjog %R ‘s}oyo0.dg ‘sia||0y

= ubimm QN\Q\n_w # m.c_r_ow_\/_




